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'DWH 2SSRQHQW /RFDWLRQ 7LPH 6RIWEDOO�5HVXOWV 'DWH 2SSRQHQW /RFDWLRQ 7LPH %DVHEDOO�5HVXOWV

0DUFK��� +D\HV 6W��$OEDQV�&LW\�3DUN ���� � 0DUFK��� (DVW�%DQN���6FULPPDJH (DVW�%DQN ���� �
0DUFK��� &DWKROLF (ONYLHZ�0LGGOH ���� � 0DUFK��� 6R��&KDUOHVWRQ +RRYHU ���� :,1����
0DUFK��� 6LVVRQYLOOH 6LVVRQYLOOH�+6 ���� � 0DUFK��� (DVW�%DQN�-9�'+ (DVW�%DQN 7%$ �
0DUFK��� (DVW�%DQN��9��-9� (ONYLHZ�0LGGOH ���� � 0DUFK��� 0F.LQOH\ 6KDZQHH ���� �
0DUFK��� 'XSRQW��9��-9� 'XSRQW�0LGGOH ���� � 0DUFK��� +D\HV�-9�'+ 6W��$OEDQV 7%$ �
$SULO�� -RKQ�$GDPV��9��-9� -RKQ�$GDPV ���� � 0DUFK��� +D\HV +RRYHU ���� �
$SULO��� (DVW�%DQN��9��-9� (ONYLHZ�0LGGOH ���� � $SULO�� 6LVVRQYLOOH�-9�'+ 6LVVRQYLOOH 7%$ �
$SULO��� :HVWVLGH (ONYLHZ�0LGGOH ���� � $SULO�� 6R��&KDUOHVWRQ /LWWOH�&UHHN ���� �
$SULO��� +RDUFH�0DQQ (ONYLHZ�0LGGOH ���� � $SULO�� 'XQEDU +RRYHU ����

$SULO��� $QGUHZ�-DFNVRQ (ONYLHZ�0LGGOH ���� � $SULO��� :HVWVLGH 6KDZQHH ����

$SULO��� -9�7RXUQDPHQW (ONYLHZ�0LGGOH �����$0 � $SULO��� 6LVVRQYLOOH�� +RRYHU ����

$SULO��� +D\HV (ONYLHZ�0LGGOH ���� � $SULO��� -RKQ�$GDPV *:+6 ����

$SULO��� 'XSRQW��9��-9� (ONYLHZ�0LGGOH ���� � $SULO��� $QGUHZ�-DFNVRQ +RRYHU ����

$SULO��� 'XQEDU� (ONYLHZ�0LGGOH ���� � $SULO��� +RUDFH�0DQQ +RRYHU���WK�*UDGH� ����

0D\�� &DWKROLF 6KDZQHH ���� � $SULO��� (ONYLHZ�-9�7RXUQH\ +RRYHU ����

0D\�� 6LVVRQYLOOH (ONYLHZ�0LGGOH ���� $SULO��� (DVW�%DQN (DVW�%DQN ����

0D\����� &RXQW\�7RXUQDPHQW 7%$ $SULO��� 'XSRQW 'XSRQW�0LGGOH ����

$SULO��� 6LVVRQYLOOH�-9�'+ 6LVVRQYLOOH 7%$

0D\�� &DWKROLF 6KDZQHH ����

0D\�� 6LVVRQYLOOH 6LVVRQYLOOH ����
� � � � � � � �

*2/) 7(11,6
'DWH 2SSRQHQW /RFDWLRQ 7LPH 'DWH 2SSRQHQW /RFDWLRQ 7LPH

0DUFK��� &DWKROLF�	�6& &RRQVNLQ ���� 0DUFK��� &DWKROLF &RRQVNLQ ����

0DUFK��� 6LVVRQYLOOH�	��+D\HV &RRQVNLQ ���� $SULO�� $QGUHZ�-DFNVRQ &RRQVNLQ ����

0DUFK��� 'XSRQW�	�+D\HV &RRQVNLQ ���� $SULO�� 'XSRQW &RRQVNLQ ����

$SULO�� 'XSRQW�	�%LEOH�&HQWHU &RRQVNLQ ���� $SULO��� +RUDFH�0DQQ &RRQVNLQ ����

$SULO��� %LEOH�&HQWHU�	�6LVV� &RRQVNLQ ���� $SULO��� -RKQ�$GDPV���+D\HV .DQDZKD�&LW\ ����

$SULO��� -RKQ�$GDPV�	�+D\HV &RRQVNLQ ���� 0D\�� &RXQW\�7RXUQDPHQW &RRQVNLQ 7%$

$SULO��� -RKQ�$GDPV�	�+0 &RRQVNLQ ���� � � � �

0D\�� +0�	�'XSRQW &RRQVNLQ ���� �

0D\�� *LUOV�&RXQW\�7RXUQH\ &RRQVNLQ ����

0D\�� &RXQW\�7RXUQDPHQW &RRQVNLQ �����$0



�*LUOV�ZLOO�SOD\�HYHU\�7KXUVGD\�DOVR

75$&.
'DWH 0HHW /RFDWLRQ 7LPH

� 0DUFK��� .97�:DUPXS /DLGOH\ ����
� 0DUFK��� +RUDFH�0DQQ�,QY� /DLGOH\ ����
� 0DUFK��� 6LGQH\�%RJJV 5RDQH�&RXQW\ ����
� $SULO�� (ONYLHZ�,QY� /DLGOH\ ����
� $SULO��� /HH�/HZLV�0HHW /DLGOH\ ����
� $SULO��� 6KHUPDQ�0LGGOH /DLGOH\ ����
� $SULO��� +XUULFDQH�,QY� +XUULFDQH�06 ����
� 0D\�� 5LSOH\�,QY� 5LSOH\�+6 ����
� 0D\��� 0LGGOH�6FKRRO /DLGOH\ ����

0D\��� &RXQW\�0HHW /DLGOH\ ����


